


 

,ay;nghj;j cUtq;fs; 

“xNu tbtk;” vd;gjw;F fzpjj;jpy; gad;gLj;jg;gLk; nrhy; “,ay; 
nghj;jJ” MFk;. 

 ,uz;L gy;Nfhzpfs; ,ay;nghj;jit vdf; $wg;gl Ntz;Lkhapd; 
gpd;tUk; ,U epge;jidfisAk; jpUg;jp nra;a Ntz;Lk;. 

i. Nfhzq;fs; rkdhfTk; 

ii. xj;j gf;fq;fs; tpfpj rkkhfTk; ,Uf;f Ntz;Lk;. 

     cjhuzkhf :- gpd;tUk; cUf;fis mtjhdpf;f. 

 

 

 

 
 

 

i. 𝐴̂ = 𝐾̂,  𝐵̂ = 𝐿̂,  𝐶̂ = 𝑀̂, 𝐷̂ = 𝑁̂ Mf ,Ue;jhYk; 

ii. mjd; xj;j gf;fq;fs; tpfpj rkdhfTk; mjhtJ> 
𝐴𝐵

𝐾𝐿
=

𝐵𝐶

𝐿𝑀
=

𝐶𝐷

𝑀𝑁
=

𝐴𝐷

𝑁𝐾
 MfTk;> ,Ue;jhy; khj;jpuNk Nkw;gb ,U 

gy;NfhzpfSk; ,ay;nghj;jjhf ,Uf;Fk;. mjhtJ 
,Uepge;jidfSk; ,Uf;f Ntz;Lk;. 
 

 I xd;Wlndhd;W rk Nfhzkhd gy;Nfhzpfs; ,ay;nghj;jjhf 
,Uf;f Ntz;ba mtrpakpy;iy. 

cjhuzk; :- xU rJuj;ijAk;> nrt;tfj;ijAk; Fwpg;gpl 
KbAk;. 

 

 

 
 
 
 
 

 
,q;F ,t;tpuz;L gy;NfhzpfspdJk; Nfhzq;fs; rkd;> Mdhy; 
gf;fq;fspd; ePsq;fs; tpfpjrkdhf ,y;iy.  
 

 ii. NkYk; xj;j gf;fq;fs; tpfpjrkkhf ,Ue;jhy; khj;jpuk; mg; 
gy;Nfhzpfs; ,ay;nghj;jjhf ,Uf;f Ntz;bajpy;iy. 

 
 
 

𝑃 𝑆 

𝑄 𝑅 

𝑆 𝑁 

𝑀 𝑇 

𝐴 

𝐷 
𝐶 

𝐵 

𝑁 

𝐾 𝐿 

𝑀 



cjhuzk; :- xU rJuj;ijAk;> rha;rJuj;ijAk; Fwpg;gpl 
KbAk;. 

 
 
 
 
 
 

 ,q;F gf;f ePsq;fs; tpfpjrkkhf ,Ue;j NghjpYk; Nfhzq;fspd; 
gUkd;fs; rkdhf ,y;iy. 
 

 

Kf;Nfhzpfspd; ,ay;nghg;G 
 

tpNrlkhf Kf;Nfhzpfspd; ,ay;nghj;j jd;ikf;F ………….! 
 

mt;tpuz;L Kf;Nfhzpfspd; Nfhzq;fs; rkdhapd; mt;tpU 
Kf;NfhzpfSk; ,ay;nghj;jit MFk;.  
 
 
 

 

 

 

    ∆ 𝐴𝐵𝐶 

    ∆ 𝐷𝐸𝐹   ,it ,ay;nghj;jit MFk;. 

 vdNt ,uz;L Kff;Nfhzpfs; ,ay;nghj;jit Mtjw;F 
mk;Kf;Nfhzpfspd; Nfhzq;fspd; gUkd;fs; rkdhf ,Ue;jhy; 
NghJkhdJ. 
NkYk; ………………… 
 

,uz;L Kf;NfhzpfSk; ,ay;nghj;jit vdpd; mjd; xj;j gf;fq;fs; 
tpfpj rkdhf mikAk;. ∆𝐴𝐵𝐶, ∆𝐷𝐸𝐹 ,ay;nghj;jit vd;gjhy;; 

 
𝐴𝐵

𝐷𝐸
=

𝐵𝐶

𝐸𝐹
=

𝐴𝐶

𝐷𝐹
 MFk;. 

 

    Note :- Kf;Nfhzpfis nghWj;jtiu rkNfhzkhdit> ,ay;nghj;jit 
,U nrhw;fSf;Fk; xNu fUj;J cz;L. 

       Kbthf ……………. 
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 xd;Wf;nfhd;W rkNfhzkhd Kf;Nfhzpfs; ,ay;nghj;jit MFk;. 
 
 
 

,ay;nghj;j Kf;Nfhzj; Njw;wk; :- 
 
Njw;wk; :- ,U rkNfhz Kf;Nfhzpfspd; xj;j gf;fq;fs; tpfpj 

rkdhFk;. 
 

 

 

 

 
 
 

 

              

juT :- 𝐴̂ =  𝐷̂>   𝐵̂ =  𝐸̂>  𝐶̂ = 𝑓 Mapd; 
 

              ∆ 𝐴𝐵𝐶 

                            ∆ 𝐷𝐸𝐹 ,ay;nghj;jit MFk;. 

KbT :-  

   

                         MFk;. 

 
 

,ay;nghj;j Kf;Nfhzpfs; ……………….. 

nraw;ghL :-  

1) a) fPNo jug;gl;Ls;s Kf;Nfhzpfspy; ,ay;nghj;j Kf;Nfhzpfis 
njhpf. 
 

 

 

 
 
 

 

 

 

𝐴 

𝐵 

𝐶 

𝐷 

𝐸 

𝐹 

𝐵𝐶

𝐸𝐹
=

𝐴𝐶

𝐷𝐹
=

𝐴𝐵

𝐷𝐸
 



    b) Nkw;gb gFjp (a) ,y; ,ay;nghj;j Kf;Nfhzpfspd; xj;j 
gf;fq;fis   tpfpjrkkhf vOJf? 

 

 

 

 

 

 

2) cUtpy; …………… 
 

a) ∆ 𝐴𝐵𝐶, ∆ 𝐴𝐷𝐸 ,y;  

    𝐵𝐴̂𝐶 = 𝐷𝐴̂𝐸 

    𝐴𝐵̂𝐶 = 𝐴𝐷̂𝐸 (……………)  

         𝐴𝐶̂𝐵 =………….. (xj;j Nfhzq;fs; rkd;) 
 

   ∆ 𝐴𝐵𝐶   ,ay;nghj;jit MFk;. 
/   ∆𝐴𝐷𝐸 

 
 

b) 
𝐴𝐵

𝐴𝐷
=  

𝐵𝐶

………..
=

………

𝐴𝐸
  ntw;wplq;fis epug;Gf. 

 

  3. cUtpy; ……………… 

a) ,ay;nghj;j Kf;Nfhzpfis Fwpg;gpLf.  
______________________________ 

______________________________ 
 

b) 
𝐷𝐸

𝐴𝐵
 ,w;F rkkhd ,U tpfpjq;fis vOJf. 

        ______________________________ 

                ______________________________  
 

4.  

a) 
𝐹𝐺

𝐷𝐶
=

𝐴𝐹

……….
  ntw;wplj;ij epug;Gf. 

______________________________ 

______________________________  
 

b) ∆𝐴𝐵𝐷 ,y; ………. 
 

  
 

𝐴𝐹

𝐴𝐷
 ,w;F rkkhd tpfpjnkhd;iw vOJf 

___________________________ 

𝐴 

𝐵 

𝐶 
𝐷 

𝐸 



                ______________________________  
 
 
 
 
 

c) gFjp (a)> gFjp (b) ,y; ,Ue;J ngwf; $ba KbT xd;iw 
Kd;itf;f. 

 ______________________________ 

  ______________________________  
 

5. cUtpy; ………………… 
 

a) ,ay;nghj;j Kf;Nfhzpfis 
ngahpLf. 
 
 

b) 𝑥 ,d; ngWkhdj;ij fhz;f. 
 

 
 

6. 𝑦 ,d; ngWkhdj;ij fhz;f. 
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𝑀 
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gytpdg; gapw;rp 

 ∆ 𝐴𝐵𝐶 ,y; 𝐴̂ = 2𝐵̂ vdpd;  

i. ∆ 𝐴𝐵𝐶, ∆𝐴𝐷𝐶 ,ay;nghj;jit vd epWTf . 

ii. 𝐴𝐶2 + 𝐴𝐵. 𝐴𝐶 = 𝐵𝐶2 vd epWTf. 

     (cjtp 𝑨̂ ,d; ,Urk $whf;fpia AD I tiuf) 
 
 
 
 
 
 

 𝑋𝑌 ,d; ePsj;ij fhz;f. 

 

 

 

 

 

 

 𝑂 I ikakhff; nfhz;L miutl;lk; cUtpy; 
fhl;lg;gl;Ls;sJ. epow;wg;gll gFjp gug;gsT ahJ? 
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4. ehw;gf;fy; ABCD ,d; gug;gsT : ∆ 𝐵𝐶𝐷 ,d; gug;gsT  tpfpjj;ij fhz;f. 

 

 

 

 

 

 

 

 

 

5. juT :- AD = BD vdpd;  

  ep.Nt :- 

       𝐴𝐶2 + 𝐴𝐵. 𝐴𝐶 = 𝐵𝐶2  
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